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CrTw : 2% Lot ] [ Corés wHUbuamser @ 75
Time Allowed : 25 Hours | [Maximum Marks : 75
SiMleyenT : (1) evarsg cHlamdsEnn &7 Urs ofal Udleurd o dTensT eraiiisener

sflurTggs Camerereyb. esxliudelle @Gapulmllear e
samaTaniuurerfliib 2 L angwits Cgfeléasyb.

(2) Beod Sjevangl smLUY ewitlamear LLHGWL ePgusHEL LwaT(Hids
Ceuamr(Hlh. LLBISET cuanTaushE Guerdled Lwear Bz,

Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

GOLY @ Gleuallenrssrer epstim) Wfleyseners HamarTLg).
Note : [his question paper contains three sections.
\9fey - 1/ SECTION - I
(g LGl uemrage : 15) / (Marks : 13)
GOy : () @uibfele o drer 15 slames@rsEEh ellanL e &Esa]id. 15x1=15
ssuul@drer wrhm el sefle
TBES05SI eT(pBELD.

i) eoLuys ehHllaeda Aan

Baeb gflwuren eflenl_enuwiz
Note : (i)  Answer all the 15 questions.

(ii) Choose the correct answer from the alternatives given in the brackets.
i o0 el
1. Qupemss Csreys GCarlur’en CeuafudllLeur
(erreven Lrrellen, allw,Gar-e-aflflev, &flar Carsem Gwame, slar LirlenL e
griby =TIl
QLDTITE )
Theory of Natural Selection was proposed by
(Charles Darwin, Hugo-de-Vries, Gregor Johann Mendel, jem Baptise Lamarck)
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2. Swerereupmier arhbler eped ureyd Crrulmeans ST s,
(areCpmi, fpenerd smLFFw, eLumi®, srerm)
One of the following is transmitted through air. Find out.
(Tuberculosis, Meningitis, Typhoid, Cholera)

3. apeilepameilenTed o awrl M@ Sl&, Hmedlan cuamméflée ool L b el sseuaes.
(eGarl, G @l HdHe, gl b e, SMmaLaT)
The product of triple fusion which acts as nutritive tissue for the development of embryo
15 ]
(zygote, placenta, scutellum, endosperm)

4.  mevwer sTHdloTE FeuTFslanTd o L Taig)

T, Sl fled)
The product obtained in the Anaerobic respiration of yeast is :

(wTSg.6 Bdlewd, epumells Billed,
(lactic acid, pyruvic acid, ethanol, acetic acid)

5.  ulgl erlClummenss a(hsgseT () :
(smblyd, @by, wsatdub, sf)
Example for fossil fuel is :

(Copper, Iron, Magnesium, Coal)

6. Gflw gel b auELiler marare euflGu aumbGurg, e Litams Qafaigen
grrenld geflflen
(Qrdluedliumrey, dgmeme)
When sunlight passes through window of classrooms its path is visible. This is due to
: of light.
(reflection, scattering)

7.  Geudl erfliveney eramug)
(g(Hens dllenen | Hangaimsad aflaner)
‘-——-'_E...__.__————-'_*———-
Chemical Volcano is an example of
(combination reaction/ decomposition reaction)

8. & .anu() srgieel SLMUbGss0 LwatuBD (Wweom

a7 Wsliy apenm [ LelluSTly wpeom) '
A process employed for the concentration of sulphide ore is
(froth floatation/ gravity separation)



10.

11.

13.

14.

3 4080

2@blatlusdern (psdlu sTg)

(Camwen L, Cgeren L, urdenenl, £l eyl )

The ore of Aluminium is

(haemetite, magnetite, bauxite, siderite)

usBefleu LeenTiem & UmCGeuhmientd ulgeulb.
(enpL_reget/ &TTLIGH/ FaoLIMT)

= oul -
Buck Minster Fullerene is the allotropic form of

(nitrogen/carbon/ sulphur)

Lelluurube 50 6.4, flenpuerer wefsaflean eren
(50 N, 35 N, 380 N, 490 N)

The weight of 50 kg ‘p_e;;on at the surface of earth is :
(50 N, 35 N, 380 N, 490 N)

The energy produced when 1 kg of a substance is fully converted into energy is

(9% 10107, 91087, 18 x 108 7, 18 x 10 J)
-

2 U9l @ dped epaLd
(Blovssfl, ojame 2,nme, Geuliu L Hnad, LIl (& reTid)

The main source of bio-mass energy is

(coal, heat energy, thermal energy, cow-dung)
s . 4 Q oo ML s ’ Oe
2 (HEUTEGD 2 (Heull LlLmesn - 6 ) NG :
<l Uled 2 (HAUMELD 2.(1F BHES0 3 ), SIFS <BplgUWiler G

(W, 6, Fugerb)

1
The magnification produced by a mirror is % then the type of mirror is :
. _‘) .

(concave, convex, plane)

[ Swliys / Turn over
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15. 2 Corssd sLsHulled uryw BlarGearrlL b s &od s
2 (HEUT&HE WM.

(Qleulsib, eper, SMhguLeD, erhglyeilens)
An electric current through a metallic conductor produces ______ around it.
(heat, light, magnetic field, mechanical force)
19fey - I1 / SECTION - 11
(FLClueRTaeT @ 40) / (Marks : 40)
G@oliy : gGseb Qmug dfarsserss oL wualdsa)b. 20x2=40
Note Answer any twenty questions.
16. &L58& salgw Uy ser gen Spdhlassn@aresd, Cuharsdngeresn
LrOU@D. SHesTanib LTS aTdsanal nTnurfi&seT Qarar@drers et
GINIEIGES
(=1) wallgs samanflen By Fab, snuy, wiply, uéme e LrnuHHns:.
Gélauans wrmuUTQ __f/&ag; gramiiL (Db,

(=) we, wrenen Gumrammeunled SrapTiiuB D L el rmuL HeTerg.
Gleueuens WTmUTHSET ﬁéfg{,_ eremiu(Hi.

The heritable characters are varying in different species and within the same species.

Name the variation in the following cases.

(@) The eye colour among the human beings are varied as blue, black, brown, green
etc.
Thisis calledas __ - wvariation.

(b)  The dentition in rabbit and elephant are not the same.
This is called as ___ variation.

17.  wrrswen womb GeuredCurrst ChTliger LTss @amnurl_Lme ehu@hdemme.

Gizar 2l@hsarrs penGL LHSS ey, 1was5dld aissh oL@ h. @eambne
sflur? seuprs QmBEsTD, H(HSI 6r(ps)s.
Marasmus and Kwashiorkar are both protein deficiency defects. Marasmus differs

from Kwashiorkar in enlarged belly and swelling in the face. Are these symptoms for
the above diseases correct ? If not, correct it
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18.

19.

20.

Sperer UL g euenfhg LeT@ssiul Herataundledy Gre(H Ursmsmars
GDES6LD.

Qe o Leld, siaéenrer, GLamrmer, dSenend alll L@H&Eer
2 - % =2

Copy the diagram and label any two parts in the group given.

(cyton, axon, dendron, end plate)

Bureley Qead Gfigellar wsdw flabey Emnéts swssd HGL. G

penL_Gumid Hlenew :

(QaiGLmeer, ursdlieer, 4lCermiieed, eelariieen)
S

The important event of meiosis is the crossing over. It occurs during :

(Leptotene, Pachytene, Diplotene, Zygotene)

&(LpemereummieT 2 A @hE Siembel (WLenullameas Caibs(H&s.

www.kalvisolai.com

4080

(=) ewaCarliedr —» QaliGLmedr — UTESee — GLUGT e - LWestlanse

(=) Luerstardlen — melariea — HalGLmed - urddled — UGaTT o6

(8N QauGLmee — amsGariieer — Lrsdleat — 1qUCerriledn — Lensblanélsn

Pick out the item which has sequential arrangements.
(a) Zvgotene — Leptotene — Pachytene — Diplotene — Diakinesis
(b) Diakinesis — Zygotene — Leptotene — Pachytene — Diplotene

(c) Leptotene — Zygotene — Pachytene — Diplotene — Diakinesis

[ Siplins / Turn over
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21. umdsd sraursde, ellmasdt gar s sraurdms &l Qeu@ Ggrenavalie
efl(pdlemar.
(1) @&ampm sMwrengm Sieag) HEUDTETST? Sos E.uybf 9/:,33_9“,2;
(<) STFERTLD S
In balsam plant the seeds fall off far away from the mother plant.
(a) s this statement correct or incorrect ?

(b) Give reason.

22, ur@rligsaier UnsGarald sreamiubelg :

Vt@) 2 Crmob, e aurm Grmwb, o Grmn (pLser
(<=y) 2-Grmoid, &b, eSlFe BEmIGET

(Q) 2 Grrnb, eant Gy, CeTbLgET

() 2 Grmow, &b, Cedldgr

The epidermis of mammals contains :

(a) Hair, bristle, quills

(b)  Hair, nail, claw

(c) Hair, bristle, horn

(d) Hair, nail, scale

23. o Laler ‘brevi Qsdlevl’ eranm iepdslufb e il aTgl? eren?
Which organ is known as “Master Chemist” ? Why ?
@Z;%,%w,
24. Qsmgl Leuperp HFliLs :
t
Germevior : e G NGamedern ; Qrds Saliuay ! o 1 Bt Orey
Qrss Coudtenemiign) eﬁﬂﬂé_‘@:@dbf%‘;’ éiﬁ@%*q'f@@é/ Dt U%Mm .
Fill in the blanks :

Plasma : Fibrinogen ; RBC : _ .

WBC :
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&Gy Ger@ssuul Hearer 2L wpeopsCerT®, ojeubdler fApliy 2 miliysar

sn&riy earl L (penp | eww&CarenyerCealiser

R SEV (G L LT ~

1

/ P

@L_:’Bﬁec-ﬁ*mﬂ&.a—: |/ 5 Ué@ewb 4 rGerm_Grriim )
I s b i R
&G e enTIEen yammev L milw kiger 46@@1&1@0&@0—/

Match the methods of nutrition of special organs with suitable examples.

Autotrophs Mycorrhiza Cuscuta
Parasites Chlorophyll Monotropa

Saprophytes Haustoria Hibiscus

suartleirL_qub

1\ \1

el G ST
636@55:5”1‘/ &
J;rrm TRl &6

\ /
\;-’mg,qu_LD /

v}rl—G‘ T rE‘Jd:E"TT

kéﬂ 1 poid 3 - b sraliL@ib rﬂ;:;_::r 6T ET(PEIS. |- %ﬂ [;id%mwﬂ;wgvjw

<2,) Blswbe] 1 - o CUEH T[T & i‘@““%f‘" U p6Puns y (o

Atmosphere (O n 04 -

/v LOZ

1
Amma]q
Decompusmon/ \ ;
Green
\ plants
Fossil /
plants

(a) Name the processes noted as no. 1 and 3.
(b)  Define the process 1.

Co, Mo lcﬂqz"»pm D )g»] %M\ﬁi j_.’\) %,‘,/L/,"

[ Sy / Turn over
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27. & aafld 2008 - 2009 - b Samgd gHul L QesrHnCrriseaisn efleuTbd eul L
cuaruLLTe Ger@éslulfererg. Qamars saibg Crrésl %@@T@T DoHE

alilen_wafldseyLd.

GlL_ial(& STUESD,
/ @ e Geilwm

e

/

T EETUEFD

(=) Cu@pLUTTET WESEETS radw Crmiser wWrenau?
96 ot Ada , S0 @fh@f")w
(<) LHD B Crriisemens aal_f\uu(ggc gCsab @ream (pepmEamer

TgS. L Drengom Pm 20Uy VRN, g70be N} 9oms B g £
2. 6yl M f")/W"‘-Qm vy b{’y %/\*Q)Wj?'v

The pie diagram represents a survey result of infectious diseases of a village during
2008 - 2009. Analyse it and answer the following chart :

Dengue fever,
chikungunya

Cholera

Rat fever

(a)  Which diseases affect the majority of the population ?

(b)  Write any two measures to control the other two diseases.
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28.  wrdlyerer, Spoul Qup Guieh DHYID oLl Qun QTS UETRIGEMET
pepwrsl QUTBSSISs.

UGl ST A B C
Hpoul Qub euaTRIGET & STHO) Qu_Grredlwid
Ao A )
glmbul dup Guers | ; ‘J/ 2y i k, V/
- manl_ryer | Qwhes eurul | GRw eall 2Hpe
QUGTTTRI GET | | |

Match the suitable renewable and non-renewable sources.

| Sources A B | %
\ Renewable Coal Wind Petroleum
l Non-Renewable Hydrogen Natural gas Solar energy

29. QGUTEGEATSE UTSATRISETE LweruBszsn eNQurmeTaeT wrameu? (BTanE

wl Ho) |- Ugwq”%&mﬂ;ﬂ Vfisnto LC'%‘J 3. Lot - LE@.,-V L UGt ﬂﬁﬁﬂ

Write any four liquid bio - fuels used for transportation.

e smrEQIsED, OgellLrg sersas@h eerar Caipurhamen SLD&

r@asliul_BidTer GDHULSET gpeld 6T(LD)s.

(1) 16 & NaCl 100 & Hifleb
(<) 36 & NaCl 100 & Bfley

(GHLUY - NaCl 6 sanpdlpen 36 &)
Distinguish between the saturated and unsaturated solution using the data given below.
(a) 16 g NaCl in 100 g water.
(b) 36 g NaCl in 100 g water

(Note - Solubility of NaCl is 36 g)

31, marene) anfiCw @iu gafl eudLCLTE Sigar uTegeWE STam (Pl &lng.
@pHlspedlen QUWT eraan? STFaRTD &Epis.

When sunlight passes through the window of the classroom, the path of the light is
visible. What is this effect called ? Give reason.

[ Hmuys / Turn over
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32.  enpLrmeet fpavdsmaml Hlenm 28. SiFem Siamiflenm 14. ML TERENTI6 <Bamysas

33.

34,

36.

7L

CTGUTEN GRTS &I 60T,

Molecular mass of nitr ogen is 28. Its atonucdﬁai is 14. Find the atomicity of nitr ogen.

SO PV A P - Tiign Co—wli. o
a o g T =
Qb gy eflaus g)ﬂﬁ]w FOCUL saredlaidr mausEnCurg sTidlyé

FOCUL ger fipb wrpdng? o 6 uflwissTer dfearsssmgs Srayb.

Why does the colour of Copper Sulphate change when an iron nail is kept in it ? Justify
your answer.

R smygalen manyrrsefle ewalbler Qsfley 1.0x10~8 M erafle, 3|Fem

pH Wl ereen?

The hydroxyl ion concentration of a solution is 1.0 x 10~8 M. What is the pH of the
solution ? Powr - .laj 10 [onl = —logo [®).0 % ]o"i’j Pow -5, B0 . ‘f
-Pﬂ. G S

S hAe6r LwETEET QT meTd Samis.

Mention any two uses of iron.

s flalu s smesm. sf Qsrar@ ¢ 2BEEL wopuild <efealu

2 Carsgems eren QU (g ?

Why cannot aluminium metal be obtained by the reduction of aluminium oxide with

coke 7 peg S -aﬁ?a P U\ %9@ &6 @Cm@ SUEES oy
Drpbofin D a‘gmj eV Gd—caw

Cemgl L QL deng Hlriiys :

GU.GT 6T . | PPV &) e LiLim(R) Qurg Quuwr ‘ IUPAC Quwrr
(1) CH;COOH SEL @2 M | argsermidss oifab
@) HCHO Lmomedig enan( | @@%@.&E’i\_}_
Fill in the blanks :
S.No. | Molecular formula Common name | IUPAC name
(1) CH;COOH . =t a Ethanoic acid

(2) | HCHO Formaldehyde
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f%
3
60'

Spseramid sdmseied e Qummaler
T(TIS.

O Qgr_mleveons spenm

) @& @ S iumL SjeTay
(<24, &g‘d Q.Urr\ﬁu_lm SITE -0151’%@ D|EMESL L .@é}mgﬂ.

J&) Qs o grre Qesran® AarssiiLGEng).

(@) It is a fundamental quantity.
(b) It is measured using physical balance.
(c) Itis measured using spring balance.

(d) It is the amount of matter.

mseied seumser eraiblslCear Smsss.
ey

EpsaTamid

15

(=) 20 rﬂ%;:_m ellens eremugl @ &7TL Blanpwdrer Qummaied 1 ms—2
Wwhsssms ghuBSSID eflensuilen iamancus @GMHEELD.
o)
(<) fenaryd erdlrelenanuid eriGurs -_mgv‘glurr(@ Lﬁgﬂ GClFweu@Ib.

Correct the mistakes, if any, in the following statements.

(@) One Newton is the force that produces an acceleration of 1 ms™?2 in an object of
1 gram mass.

(b) Action and reaction are always acting on the same body.

5 g, 10 @b, 30 b Wear gaLsd @@ &Hdld uss @eaarliGe
Qmaﬂr&sau I (Reremen. spdlen Qar@Lwen Blaigamnl srams.

Three resistances having the values 50, 10(), 300} are connected parallel with each
other. Calculate the total circuit resistance.

[ Bmuys / Turn over
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41. GeuréLm Wersed &G sruul Gdrerg.

Y

42,

A, B, C, D erand @MU LUl L urshisamers GHlésallb.

;—A %"}56“&“"
“(’ @335 W, S0,

D Batamey Urh s

QuUTmSSIS
2 ML &6 GIINMCED

(<) emell g Fella (ppgig)
(<) SWLE QenewTliL

(@) e aflenés

(

) WerHeaid
Match the following :
Components Symbols

a) Plug key or Switch (Closed)

()

(b) A wire joint _—

(c) Electric bulb o 1) Lt
(d)  Electric cell S v
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43. Csmgl L @ mseer Hrlys.
(=) Corlnmt @ flaewssrssbd, eurarlu fouleorer Gl L @@éﬁ@
(=) @alwus Cgrenavey @ LBLL T, Smer : @L_.L\NTJL}.
Fill in the blanks :
(a) For a motor : a permanent magnet, then commercial motor :

(b)  Focal length of a lens : metre, then for power of a lens :

44, SpEsa@mLeupenns @OISGL SauTantle LTSmSmer T(DEIS.

(=) sam utemaue s sLQULEOSSID @ EaTL smeluL b ®hw

(2,) samaniley Qumpeflen GbLD 2 @ mEn LFly _ﬁg&ég
Considering this write down the names of the parts in human eye.
(@) Dark muscular diaphragm that controls the pupil _

(b)  The screen at where the image is formed by eye lens

~ L. . |
45. @ ulteadda Galluggnb 2 18 el Hoafler Sner srars. [P: ;—F*-l

The focal length of a concave lens is 2 m, calculate the power of the lens.
vt ber Crawigor A = -2, Ousiris Bosr p= 1§, P=1/-2,
\9fley - III / SECTION - III Pzep:5 D

(bHUGLeTgeT = 20) / (Marks : 20)

GoluY : () gdbaurm ueHuSHBogIL e ar aisb Breng AaTEsErss

allen_wefl&sa)b 4x5=20
(i) eaCeurm aflamaihEb mBg LI UGLIETSET.
(i) Cpemeuwren @L Bisaled LLL aumys.

Note : ()  Answer any four questions by choosing one question from each part.
(i)  Each question carries five marks.

iii) Draw diagrams wherever necessary.

U@d - 1/ PART -1
46. (=) wry Gurdlilue eremmmed 6resen?
(<) wry Qurdlulwellen BeTenLOSET WTeneu?
(a) Define genetic engineering.
(

b)  What are the benefits of genetic engineering ?

[ Sipliys / Turn over
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47.

48.

49,

50.

51.

14

ST GLphang ClubmeTermi.
(1) UnBs GLBOSSE LS WM OTSESERSEG euphis Ceuegw Crmig
g;@n;%é} S| L GUMHEITENILI ET(LDSIS.

r’f_:i

(=) @ss0Liydlsdr wab apblgbs CErusmar sOHSSHL Gue)

Kala has delivered a baby :
(a) Suggest the immunization schedule for the baby in the first six months.

(b)  What are all the diseases that can be cured as per the schedule ?
L@ - 11/ PART - 11

@ gdenasd sreur eflensullen ey afleufl.

Describe the structure of dicot seed.

g, Us, ariE Ch T;QDHLD Lens bam b, GEGLe 2 Ld BassnG
P&T erenlensg hmé CQarardprwur? =7 eflludlarmed ghu@b Samw
LIW&ELD @&meba;amm _!Lq_u_l-ﬂSIOeaa

Smoke, Smoke everywhere smoke. Do you agree this situation is good for health ?
List out the harmful effects of coal bummcr

U@l - 111/ PART - 111

(=) peien Samis Qarearanasufer fpliLbsisatia gCasab epamlener erpgis.
(=) SiCaurCsl Gy afldluller LieTaseT @iramsanear ar(lpgis.
(a) State any three findings of modern atomic theory.

(b) Write down any two applications of Avogadro’s law.
) euERTWIM : ETEVL_[THGHSHE

a Define “Bsterification”.

(<=

(<=4,) TESHEMTEOlET (PG LILIGTSHENET 6T(LGIS.
(

(

)
b) Write any three uses of ethanol.
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u@&Sl - IV / PART - IV

52. (=) eflamGleuel Hlevawmsar, e prar afam@eaiafiuid SHGagTe Wafls

b

(b)

53.

2 Lale gHUED eflameTeysamer =y rmw L] Lweru s UL [ & emmer.
QlEam hilener Buruiu®sgs.

)F=G mym,/d? eramug Bl Lafler it eflgller sanfls auigauh,

Bl e mitilwe afldulener auTTSemgsatle) erpgis.
Space stations are used to study the effects of long-space flight on the human
body. Justify.

F=G mlmz/d2 is the mathematical form of Newton’s law of gravitation.
G-gravitational constant, my, m, are the masses of two bodies separated by a

distance d, then give the statement of Newton’s law of gravitation.

(8) CuGa o.dmer UL Sms BaT(Hb s,

(<2b)

@)
()

QuuLb ALY es _ :
LLgdled psdlwibrer Ursmismars Ehl&Esallb.
QEeTgand TEssHeEHET o e 19 Qewdu@Hmng)?

[ Sipliys / Turn over
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(@) Redraw the above diagram.

(b) This diagram represents ___

(c) Label the parts of the diagram.

(d) Mention the working principle of the device denoted by this diagram.

-00o0-





